

$$ax + by = n, a, b, n \in \mathbb{Z},$$

1.

$$x^2 + y^2 = z^2$$

1.1

$$x^2 + y^2 = z^2 \tag{1.1}$$

y

$$x = k(r^2 - s^2), \quad y = 2krs, \quad z = k(r^2 + s^2). \tag{1.2}$$

k

r s

x, y, z

x, y, z

1.

k.

x y

x y

$$8M + 1,$$

$$z^2 = 8L + 2.$$

$$4N, \quad z^2$$

x y

y

x

z

$$y^2 = 4y_1^2 = z^2 - x^2$$

$$y_1^2 = \frac{z+x}{2} \frac{z-x}{2}$$

$$\frac{z+x}{2}$$

$$\frac{z-x}{2}$$

z

x.

$$(x, z) = 1,$$

$$\frac{z+x}{2} \quad \frac{z-x}{2} \quad \cdot \quad x, y, z$$

,

$$\frac{z+x}{2} = r^2, \frac{z-x}{2} = s^2, \quad (1.3)$$

$$(r, s) = 1.$$

$$(1.3)$$

$$(1.3)$$

$$y_1^2 = \frac{z+x}{2} \frac{z-x}{2},$$

$$x = r^2 - s^2, \quad y = 2rs, \quad z = r^2 + s^2. \quad (1.4)$$

$x \quad z$

,

$r \quad s$

.

$$(1.1)$$

$$(1.4)$$

$$(1.1)$$

$$r^2 > s^2.$$

,

$r \quad s$.

(x, y, z)

$$(1.1)$$

:

$(x, y, -z), (x, -y, z), (-x, y, z), (-x, -y, z), (-x, y, -z), (x, -y, -z), (-x, -y, -z).$

.

2.

$$x^2 + 2y^2 = z^2$$

2.1

$$x^2 + 2y^2 = z^2 \quad (2.1)$$

,

$$x = \pm(r^2 - 2s^2), \quad y = 2rs, \quad z = r^2 + 2s^2, \quad (2.2)$$

$x > 0 \quad r \quad s$

$$(r, 2s) = 1.$$

.

$x (\quad , \quad z \quad)$

y

.

$x \quad y$

.

$$y = 2y_1$$

$$2y_1^2 = \frac{z+x}{2} \frac{z-x}{2}.$$

$$\frac{z+x}{2}$$

$$\frac{z-x}{2}$$

,

$$z+x = 2r^2$$

$$z-x = 4s^2,$$

$$z-x = 2r^2$$

$$z+x = 4s^2,$$

$r \quad s$

$$(r, s) = 1.$$

$$x = r^2 - 2s^2, \quad y = 2rs, \quad z = r^2 + 2s^2,$$

$$(r, 2s) = 1.$$

$$x = 2s^2 - r^2, \quad y = 2rs, \quad z = r^2 + 2s^2.$$

$$x = \pm(r^2 - 2s^2), \quad y = 2rs, \quad z = r^2 + 2s^2, \quad (2.2)$$

$$x > 0 \quad (r, 2s) = 1.$$

$$(2.2) \quad (2.1)$$

$$r \quad s \quad (r, 2s) = 1.$$

$$x, y \quad z \quad (2.1).$$

1.

$$ABC \quad z$$

$$x \quad y, \quad O \quad R$$

$$UABC$$

$$x^2 + y^2 = z^2. \quad (2.3)$$

$$P = \frac{1}{2}xy = \frac{1}{2}R(x + y + z).$$

$$(2.3)$$

$$x = k(r^2 - s^2), \quad y = 2krs, \quad z = k(r^2 + s^2).$$

$$xy = R(x + y + z),$$

$$2k^2rs(r^2 - s^2) = Rk(r^2 - s^2 + 2rs + r^2 + s^2),$$

$$R = \frac{2k^2rs(r^2 - s^2)}{2kr(r + s)} = ks(r - s).$$

R

2.

$$x^2 + y^2 = 2z^2. \quad (2.4)$$

$$x, y, z \quad (2.4).$$

$$x, y, z$$

$$d = (x, y, z)$$

$$x = dx_0, \quad y = dy_0, \quad z = dz_0, \quad x_0, y_0, z_0$$

$$(2.4).$$

$$, \quad x, y, z$$

$$(2.4).$$

$$x, y, z$$

$$\begin{aligned}
 & x, y, z, \quad (x, y, z) = 1 \\
 (2.4) \quad & \frac{x+y}{2}, \frac{x-y}{2}, z, \quad \left(\frac{x+y}{2}\right)^2 + \left(\frac{x-y}{2}\right)^2 = z^2. \\
 & x = y, \quad z = x = y = 1. \\
 & : \quad \frac{x+y}{2} = r^2 - s^2, \quad \frac{x-y}{2} = 2rs, \\
 & z = r^2 + s^2, \quad \frac{x-y}{2} = r^2 - s^2, \quad \frac{x+y}{2} = 2rs, \quad z = r^2 + s^2, \\
 & \quad r \quad s, \\
 & x = r^2 - s^2 + 2rs, \quad y = \pm(r^2 - s^2 - 2rs), \quad z = r^2 + s^2, \quad (2.5) \\
 & \quad r \quad s \quad x \quad y. \\
 & \quad (2.5) \quad (2.4) \\
 & \quad r \quad s.
 \end{aligned}$$

3. $x^4 + y^4 = z^2$

3.1

$$x^4 + y^4 = z^2. \quad (3.1)$$

„ “
 n $P(n)$
 $P(n)$ n
 $P(n)$.

$$x, y, z \quad (3.1)$$

$$\begin{aligned}
 & x^2, \quad y^2 \\
 (3.1) \quad & (x^2)^2 + (y^2)^2 = z^2.
 \end{aligned}$$

$$\begin{aligned}
 & , y \\
 & , \\
 & x^2 = r^2 - s^2, \quad y^2 = 2rs, \quad z = r^2 + s^2, \quad (3.2)
 \end{aligned}$$

$$\begin{aligned}
& r^2 - s^2 = (r^2 > s^2) \quad , \\
& \cdot \quad , \\
& \cdot \quad , \quad r^2 - s^2 = 4M + 3 \\
& \cdot \quad , \quad r^2 - s^2 = 4M + 3 \\
& \cdot \quad , \quad y^2 = 2rs, \quad (r, 2s) = 1, \\
& \cdot \quad , \quad 2, \quad r = \pm r_0^2, s = \pm 2s_0^2, \quad r_0 \\
& s_0 \quad \cdot \quad r \quad s
\end{aligned}$$

(3.2),

$$\begin{aligned}
& x^2 + (2s_0^2)^2 = (r_0^2)^2, \quad (3.3) \\
& (r_0, 2s_0) = 1. \quad (3.3)
\end{aligned}$$

,

$$\begin{aligned}
& r_0^2 = t^2 + u^2 \quad s_0^2 = tu. \quad (3.4) \\
& (t, u) = 1. \quad (t, u) = 1, t = \pm v^2 \quad u = \pm w^2, \quad u \quad w \\
& \cdot \quad , \quad (3.4)
\end{aligned}$$

$$v^4 + w^4 = r_0^2.$$

(3.1)

$$r_0^2 = |r| \leq r^2 < z < z^2. \quad , \quad (3.1)$$

x, y, z

$$v, w, r_0 \quad r_0 < z. \quad (3.1)$$